Division

Name:

Date:

. What's the missing number in
this equation?

14 x6 +___ =89
O 4 O 6
O 5 O 7

. Share $325 equally between 5
people. How much does each
person get?

Each person gets $
. 86 divided by 9. What's the

remainder?

O 3 O
O 5 O

7
9

4. Which equation will not give
an answer of 8?

O 80+8= O 8)64

O 80=10= O 9572

. Mrs 6race shared 292 boxes of
pencils equally amongst 8
classes. How many boxes were

left over?
Six

O two O

O four O eight

6. Which equation is solved

correctly?
12 9 r2
O 4 549 O 6 554
9r4 10 r4
O 5)49 O 7)76

7. 1225 divided by 35 equals?

Clue: multiply each option by 35.
O 15 O 45

O 25 O 35

8. Which equation /s not a way of
writing '35 divided by 7'?

o 35 . O 35:7
7
O 7)35 O 35/7
9. 16 r 4
7) N 2?2
10- 10r 8
208

What's the value of the divisor?
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